Math 209 page 90 #45

Write an equation of the lowest-degree polynomial function with the graph with the graph and intercepts shown in the figure.

Solution:
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 is a polynomial and 
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are real numbers. This is possible using long division method.

Now 
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and
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Thus we substitute 
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to the equation 
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we get  
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Next


[image: image17.wmf]2

(2)0

0(2)(20)(22)(22)(2)(2)(2)

0(20)(0)(22)(2)(4)(2)

042

420

f

fQab

Qab

ab

ab

=

==--+++

=-+++

=+

+=


So we have   
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By adding above two equations we get
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Now we substitute  
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So we have 
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So 
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Now we know that the point 
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is on the graph so,
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Since we want to find the lowest degree we may assume that 
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Now we check our guess with the point 
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The above equation is correct. So we find
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The problem has been solved at 11:31 (p.m.)  January 6th /2002, by Dr. Chun, Chong Suh.
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